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You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.
Do any necessary rough work in this booklet.
When you have chosen your answer, mark itonthe ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
Use an ordinary pencil only.
Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL
By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number
and the three-figure Candidate's Number) in the grid near the top of the answer sheet.
Do not make any marks outside the boxes.
Keep the sheet as clean as possible and do not fold it.
For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer.
On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet.
S: Which one of the following components of blood is involved in clotting after an injury?
A. Whiteblood cells.
B. Redblood cells.
C. Plasma.
D. Platelets.
The correctanswer is D.
On the answer sheet:
tA1 (B1 cC1 oo tA1 tB1cC1 D1 tA1 tB1cC1 D1 tAr tB1:C1 D1 Y tA1 tB1cCa tDs
In the set of boxes numbered 5, the box with the letter D printed in it is marked.
Yourdark line MUST be within the box.
For each question ONLY ONE box is to be marked in each set of four boxes.

This question paper consists of 8 printed pages.
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. - B.Tearing andgrmdlngg
c Cuttmgand tf:anng .
D Cuttmg and bmng

2 thchccrmpxmﬂn fbl@ is CORR
 matched?
_ Component
A Plasma

; :iB Red blo@d Gells
 |C. White blood c:aﬁs |
b Plateiets | Helpth

3 The fnll&wmg are numt;onai fic
- ;di‘seases EXCEPT .
. s rickets
B I{washxmfkﬂr '
C Malaria

' ;j_,m.Mmsmus_

4. Thefollowi







fulcrum

B. Nyevu shmﬂd q;t closc:r to th 3

. B Stﬂpgfazmg

17%.

rotational gra
A.Tethering

D. szre cmpsxv -

Whlch one c}f the faiiow" i

in factames‘?’

A. Making fout;tams -

B. Surfing .
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B. Grass rod
C.Coppercoin
D. Steel sgggﬁi}z’ﬁ* .

Which of the f{ﬂl owing methads of food
preservamm are both tradxtmml and
modern? . 37 .

A. Smeﬁa&g and ase af hcmey

B. Fr@
c Dr:é'

Study the food chain below. Which is the
CORRECT food chain? '~ -
A, Grass S Rabbit & Fox
B. Grass- '}‘Leéﬁ‘ﬁf d"*ﬁlﬁ}n :
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Hummbemgs

In which one of the féllewiﬁg pairs of 1éver:s

is the arrangement of the pesztmns load,

fulerum and effort are thc same when in use? [

A. Pair Gf smssom and hammer
B. Cfowbar and wheeibarmw
C. Nutcracksr &nd pmﬁere:

D. Fishing rad and bsan balance -

Which list contains useful ndéz;gréénfplants
only? ' .

A. Yeast and penicillium ”

B. Yeast and toadstool ;

C. Yeast and bread mﬁuld

D. Penicillium and pig weﬁ:d -

33 Which one of the follawmg charaeterxsttcs
~ of study soil DE}FS NOT expiam Why water o

drams through it easﬂy‘?

A Large particles

B Roughtexmre’s‘ .

G Shmny pam«:; 5 . . '
D, Large air space .
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34. The diagfamebﬂéﬁé ShGWS parts of a flower '

Whl(:h parts are represented by X and Y
' respecttvely ?

A. Anther and stigma
* B.Styleand anther

o Anther and style

D Fﬁament and style

35. Which one of the foﬁowmg ES NQET a useof
water in the farm? -

A. Cleaning tool .

‘ BWﬁiﬁﬁﬁg animals =@

. C.Mixingchemicals
D. Cooling engines

36. The chart below shows perwntaga of'the
c{}mpanem of air. Which letter represents

the gas that is necessary fer bummg‘?
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